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QUESTION 1

Which of the following ports are commonly used to send/receive email? (Select TWO). 

A. 25 

B. 53 

C. 80 

D. 110 

E. 443 

Correct Answer: AD 

 

QUESTION 2

Which of the following can ONLY be installed when a laptop is turned off and disconnected from all power sources? 

A. PCMCIA device 

B. Express card 54 device 

C. SODIMM chip 

D. USB expansion hub 

Correct Answer: C 

 

QUESTION 3

Which type of fire extinguishing technology should be used when encountering an electrical fire? 

A. Class B fire extinguishers 

B. Overhead sprinkler system 

C. Water-based fire extinguishers 

D. Non-water based extinguishers 

Correct Answer: D 

 

QUESTION 4

After installing a new serial port card in a computer, the communication parameters need to be configured. 

Which of the following is the MOST common communication configuration for a serial port? 
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A. Eight data bits, even parity, two stop bits 

B. Seven data bits, no parity, one stop bit 

C. Eight data bits, no parity, one stop bit 

D. Seven data bits, even parity, one stop bit 

Correct Answer: C 

 

 

QUESTION 5

A technician performed a clean install of Windows XP on a laptop and finds that the Bluetooth on/off switch is not
working. 

Which of the following will BEST resolve this issue? 

A. Replacing the keyboard 

B. Installing service pack 3 

C. Reinstalling the operating system with Windows XP Media Center 

D. Installing the Bluetooth stack/driver 

Correct Answer: D 
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